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Question Number : 1 Question Id : 5400732501 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Research is:

Options :

1. Search again and again

2. Finding solution to new problem

3. Working in a scientific way to search for truth of any problem.
4. None of the above

Question Number : 1 Question Id : 5400732501 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 5400732502 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the process of conducting research “formulation of hypothesis” which followed by
Options :

1. Statement of objectives

2. Analysis of data

3. Selection of research tools

4. Collection of data

Question Number : 2 Question Id : 5400732502 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 3 Question Id : 5400732503 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
How to judge the depth of any research by research?



Options :

1. By research title

2. By research Methodology
3. By research duration

4. By research objectives

Question Number : 3 Question Id : 5400732503 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 4 Question Id : 5400732504 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following methodology is being used in empirical research?
Options :

1. Inductive method

2. Deductive method

3. Initiative method

4. Scientific method

Question Number : 4 Question Id : 5400732504 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 5 Question Id : 5400732505 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The personalized and contextualized references are permissible in which type of reporting of research?
Options :

1. experimental research



2. historical research
3. ethnographic research
4. survey based research

Question Number : 5 Question Id : 5400732505 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
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Options :
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Question Number : 6 Question Id : 5400732506 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Research conducted to find the solution for an any initiate problem is: -
Options :

1. fundamental research

2. analytical research

3. survey research

4. action research

Question Number : 6 Question Id : 5400732506 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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3. A&ur TN
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Question Number : 7 Question Id : 5400732507 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Research, which follows a case study method is called:
Options :

1. clinical or diagnostic

2. caused

3. analytical



4. qualitative

Question Number : 7 Question Id : 5400732507 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. eI (i)

2. U

3. [azayuTes
4. UTAD

Question Number : 8 Question Id : 5400732508 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A hypothesis which develop while planning the research is:-
Options :

1. A Null hypothesis

2. A working hypothesis

3. A Relational hypothesis

4. A descriptive hypothesis

Question Number : 8 Question Id : 5400732508 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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2. T URBeTl
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Question Number : 9 Question Id : 5400732509 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The process not needed in experimental research is: -
Options :

1. Reference collection

2. Controlling

3. Observation

4. Manipulation and replication



Question Number : 9 Question Id : 5400732509 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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3. 3l
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Question Number : 10 Question Id : 5400732510 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Formulation of hypothesis may not be necessary is:
Options :

1. Survey Studies

2. Fact finding (Historical) studies

3. Experimental studies

4. Normative studies

Question Number : 10 Question Id : 5400732510 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 11 Question Id : 5400732511 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statical test is used to determine if there is a significant relationship between two variables?
Options :

1. T-test

2. ANOVA

3. Correlation coefficient

4. Chi-square

Question Number : 11 Question Id : 5400732511 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ATt
2. T

3. 9gqey
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Question Number : 12 Question Id : 5400732512 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Poisson distribution is applied for: -
Options :

1. Regular random variable

2. Constant time variable

3. Discrete random variable

4. Irregular random variable

Question Number : 12 Question Id : 5400732512 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 13 Question Id : 5400732513 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the variable whose calculation is done according to the weight, height and length, known as: -
Options :

1. Flow Chart variables

2. Discrete variables

3. Continuous variables

4. Measuring variables

Question Number : 13 Question Id : 5400732513 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
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Options :

1. 7aT8 A1c TR

2. 38dd =R

3.9dd =R

4. {9 I

Question Number : 14 Question Id : 5400732514 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Specialized processes such as graphical and numerical method are utilised in which of the following?
Options :

1. Education statistics

2. Descriptive statistics

3. Business statistics

4. Social statistics

Question Number : 14 Question Id : 5400732514 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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4. TS TiRksgdt

Question Number : 15 Question Id : 5400732515 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mode and mean are given by 5 and 6 respectively. Then median is:
Options :

1.17/3.

2.13/3.

3.23/3.

4.33

Question Number : 15 Question Id : 5400732515 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :



1. 17/3.
2.13/3.
3.23/3.
4.33

Question Number : 16 Question Id : 5400732516 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The standard normal distribution has:
Options :

1. Mean = 1 and standard distribution = 0
2. Mean = 0 and standard distribution = 0
3. Mean = 1 and standard distribution = 1
4. Mean = 0 and standard distribution = 1

Question Number : 16 Question Id : 5400732516 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 17 Question Id : 5400732517 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which measures of the central tendency include the magnitude of scores?
Options :

1. Mean

2. Mode

3. Median

4. Range

Question Number : 17 Question Id : 5400732517 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. {11

2. dgcidh



3. Hiferast
4. goft

Question Number : 18 Question Id : 5400732518 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a type of research design?
Options :

1. experimental design

2. descriptive design

3. correlation design

4. probability design

Question Number : 18 Question Id : 5400732518 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. i f&eirgT

2. qUIHTE &S

3. HE-HaYTHSD fEuirs

4. YIS feers

Question Number : 19 Question Id : 5400732519 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A “pilot study” is also called a: -
Options :

1. descriptive study

2. feasibility study

3. correlation study

4. explanatory study

Question Number : 19 Question Id : 5400732519 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. JUFTHD HTIT
2. TG 3T
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Question Number : 20 Question Id : 5400732520 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following should not be a criterion for a good research protect?
Options :

1. Demonstrates the ability of the researcher

2. Is depended on the completion of other protects

3. Demonstrates the integration of different fields of knowledge

4. Demonstrates the skills of the researcher

Question Number : 20 Question Id : 5400732520 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 21 Question Id : 5400732521 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Bibliography given in a research protect report:
Options :

1. Shown vast knowledge of the researcher

2. Helps those interested in further research

3. Has no relevance to research

4. All of the above

Question Number : 21 Question Id : 5400732521 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TS XNy TRAeHT RO & € 178 U g
Options :

1. Nt o 1 b1 a=ifar 8

2. 3T ]NY B aTal DT HGG Bl §

3. QMY W Pls daey g1 @l

4. IRIad | I gt




Question Number : 22 Question Id : 5400732522 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Authenticity of a research finding is its:
Options :

1. Originality

2. Validity

3. Objectivity

4. All of the above

Question Number : 22 Question Id : 5400732522 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Mifcepar o
2. JYyar H

3. qEIATATH
4. 9t

Question Number : 23 Question Id : 5400732523 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which technique is generally followed when the population is finite?
Options :

1. Area sampling technique

2. Purposive sampling technique

3. Systematic sampling technique

4. None of the above

Question Number : 23 Question Id : 5400732523 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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4. PIS gl

Question Number : 24 Question Id : 5400732524 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Manipulation is always a part of:
Options :

1. Historical research

2. Fundamental research

3. Descriptive research

4. Experimental research

Question Number : 24 Question Id : 5400732524 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. BfaeTRie =y &1

2. T =My BT

3. qUiHTEHS QMY B

4. TARTIEHD TNY BT

Question Number : 25 Question Id : 5400732525 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Action research is: -

Options :

1. An applied research

2. A research carried out to solve immediate problems.
3. A longitudinal research

4. All of the above

Question Number : 25 Question Id : 5400732525 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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4. 91

Question Number : 26 Question Id : 5400732526 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The process not needed in experimental research is:
Options :

1. Observation

2. Manipulation and replication

3. Controlling

4. Reference collection

Question Number : 26 Question Id : 5400732526 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 3l
2. GEIDIS UG Ufafehar
3. iR

4. e Tugur

Question Number : 27 Question Id : 5400732527 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When a research problem is related to heterogeneous population, the most suitable sampling method is:
Options :

1. Cluster sampling

2. Stratified sampling

3. Convenient sampling

4. Lottery sampling

Question Number : 27 Question Id : 5400732527 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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4. e ufd=ra

Question Number : 28 Question Id : 5400732528 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In research methodology, interpretation is the search of:
Options :



1. Statistical data
2. Research Problem
3. Research Finding
4. Research plan

Question Number : 28 Question Id : 5400732528 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 29 Question Id : 5400732529 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A long essay as a single piece of work is called:
Options :

1. Research report

2. Monograph

3. Dissertation

4. Book

Question Number : 29 Question Id : 5400732529 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ]y RUre

2. HHH

3. feardem

4. fooda

Question Number : 30 Question Id : 5400732530 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Switch off the following is an optional supplement of a research paper?
Options :

1. Foot note

2. Appendix



3. Glossary
4. Bibliography

Question Number : 30 Question Id : 5400732530 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. UTe o

2. 3EY

3. eGP

4. 9 it

Question Number : 31 Question Id : 5400732531 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The report submitted when there is a time lag between data collection and presentation of result is called:
Options :

1. Thesis

2. Interim report

3. Summary report

4. Article

Question Number : 31 Question Id : 5400732531 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. iR

2. i fare

3. ORI Rre

4. 3

Question Number : 32 Question Id : 5400732532 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the two terms can be used together in a research article as per journal requirement?
Options :

1. introduction and acknowledgement

2. result and discussion

3. method and discussion

4. methods and references



Question Number : 32 Question Id : 5400732532 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

forit 2 STeRg o S Pt SMARIHATIIR B J &l Weq Ueb 1Y Ygad [T ST qhdl 82
Options :

1. UXATaT Td 3THR

2. gioH U4 T

3. 9 wd =t

4. Ugfel Td Fa

Question Number : 33 Question Id : 5400732533 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Methodology in grant proposal:
Options :

1. must be addressed in detail

2. must be brief

3. need not be discussed

4. just need the name of method

Question Number : 33 Question Id : 5400732533 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
3G URaTd § 1 YurTa:

Options :

1. faxqga aftfa g =nfe

2. W& B A1RT

3. Tl B ST el &

4. Haq STV BT 1 € 1 AT

Question Number : 34 Question Id : 5400732534 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Informal report is used for:

Options :

1. Longer documents

2. Shorter documents

3. Academic paper

4. All of the above



Question Number : 34 Question Id : 5400732534 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Options :

1. el GdTaell H§

2. BIC TXdrasll #

3. 3{DIGHD UAI H

4.9

Question Number : 35 Question Id : 5400732535 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A list of “Headings” and “Appendices” of the report is called
Options :

1. Table of content

2. Acknowledgment

3. Summary

4. Abbreviation

Question Number : 35 Question Id : 5400732535 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
et T e » ) e e
Options :

1. fawg =it

2. 3AHHR

3. R

4. GEUTER

Question Number : 36 Question Id : 5400732536 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘T’ Test is a significance test that assesses:

Options :

1. The means of two independent groups

2. The median of two dependent groups

3. The modes of two independent variable

4. The standard deviation of three independent variable

Question Number : 36 Question Id : 5400732536 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A-UFer0T U HEaqUl URIEUT § ST b SHTha Bl 6:
Options :

1. & a0 gl & 1 &1
2. & SIS THg! & AT BT
3. &l Wad 9 & HIseT Pl
4. T add RN T A faaed

Question Number : 37 Question Id : 5400732537 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In to how many types can be classify measures of depressions?
Options :

1.3

2.4

3.5

4.6

Question Number : 37 Question Id : 5400732537 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Thelld & IUT ! fobd UbRI A faHTSa fvar o gear g2
Options :

1.3

2.4

3.5

4.6

Question Number : 38 Question Id : 5400732538 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the formula for measuring skewness in a database?
Options :

1. mean — median

2. mode — median

3. C3 (mean — median I standard deviation

4. mean — mode I standard deviation

Question Number : 38 Question Id : 5400732538 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e H fAwHdT 3ticher &1 B 91 T 82



Options :

1. A1%- A&

2. §gcid — AT

3. C3 (H149- AT | A fdaad
4. 919 — 9gdd | A fade

Question Number : 39 Question Id : 5400732539 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a principle of experimental research design?
Options :

1. Maximizing treatment variance

2. minimizing error variance

3. Maximizing error and minimizing treatment variance

4. Maximizing treatment and minimizing error variance

Question Number : 39 Question Id : 5400732539 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
0 & D S 1 UH TS T feome &1 Rigid 82
Options :

1. TUdT & IUAR & S dd BT

2. e faeRur &1 =g rel

3. 3¢ BT i Td f=dl & SUAR DI GATH BT
4. IYAR &1 HfYHay Td Ffe foaror H gAay w1

Question Number : 40 Question Id : 5400732540 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Field work based research is classified as:
Options :

1. empirical

2. historical

3. experimental

4. biographical

Question Number : 40 Question Id : 5400732540 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
& B SR U™ &I afferd e SaT g -
Options :

1. NG & 0 H



2. UfagTRI® & U H

3. JANTIHD &b g H

4. Sie-RA & U H

Question Number : 41 Question Id : 5400732541 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The primary data collection method that involves tracing behavior over a period of time is called:
Options :

1. Browsing

2. Observation

3. Sampling

4. Testing

Question Number : 41 Question Id : 5400732541 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fort T o Fa8R &1 Idl A o forg UTufies Ser Tugun faft sgand &:
Options :

1. STFSHT

2. el

3.9
4. TYeT

Question Number : 42 Question Id : 5400732542 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Two types of research data include:
Options :

1. Recognised and unrecognised data
2. Structured and unstructured data

3. Qualitative and quantitative data

4. Organised and processed data

Question Number : 42 Question Id : 5400732542 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A THR F My SeT B TEIfed g &
Options :

1. 779 T SA ST

2. TR T SRRfId St

3. TUMHD Ud HEATHSD Sl




4. IR Td YT SeT

Question Number : 43 Question Id : 5400732543 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Data, that are collected or sourced from the Internet is called:
Options :

1. Documentary sources of data

2. Interval secondary sources of data

3. External secondary sources of data

4. All of the above

Question Number : 43 Question Id : 5400732543 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Zee J YUfed sryar 39 id ¥ feran gan Sel Heardi g: -
Options :

1. ST & gxdraSh did

2. S & 3RS ATeaf® Aid
3. Sl & ST HIAH® Aid

4. 94t

Question Number : 44 Question Id : 5400732544 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Data collected from an archive or the record of an organisation, is called:
Options :

1. Interval data

2. Secondary data

3. External data

4. Primary data

Question Number : 44 Question Id : 5400732544 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TP RIAE YT ! TRIM & Reprs & Tfed Sel Haand 6:
Options :

1. 3D Sl

2. it ger

3. g ecl

4. T STt



Question Number : 45 Question Id : 5400732545 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The data contained in the national income estimates and census of population done by the government is called:
Options :

1. Interval data

2. Secondary data

3. Primary data

4. External data

Question Number : 45 Question Id : 5400732545 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

RIS 3T & HIGA Td ST 70T, Sl f TR gRT BT o1 §, H GHIfed Sel Hoamd o:
Options :

1. 3ffalkes Se1

2. fedtae Sar

3. Tl Sat

4. ST Sl

Question Number : 46 Question Id : 5400732546 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is an open source software for data analysis?
Options :

1. SPSS

2. MATLAB

3.R

4. MINITAB

Question Number : 46 Question Id : 5400732546 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST fazawur & ol e & @ &9 U Jad IIeawR 82
Options :

1. SPSS

2. MATLAB

3.R

4. MINITAB

Question Number : 47 Question Id : 5400732547 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

When is set of possible answers to select for a question in given to a respondent, it is called:
Options :

1. open ended question

2. classical question

3. filtered question

4. fixed choice question

Question Number : 47 Question Id : 5400732547 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
oTd frdt STRETAT &1 T Uy &1 9a1d ¢ & o) $© JUTfad IR 8 91 €, 99 39 $Hed - -
Options :

1. fawqd Sara aret Uy
2. YA Y

3. fheer fa M Uy
4. ¥ fawea Uy

Question Number : 48 Question Id : 5400732548 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the relationship between sample size and the standard error?
Options :

1. The standard error decrease as the sample size decrease.

2. The standard error in unaffected by the sample size.

3. The standard error increase as the sample size increase,

4. The standard error decrease as the sample size increase.

Question Number : 48 Question Id : 5400732548 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T BT 3MHR U4 7S Ffe & e 1 ey 82

Options :

1. T & ATHR & HH g4 A IS HH g1 A1t g

2. T & PR W gfk 81 T A1 781 811 ¥ T IS A DIs YU T8 aIdT §
3. AP PR AT TR I IS I ARG Bl ©

4. A & MHR B 3G 81 I T I HH g el §

Question Number : 49 Question Id : 5400732549 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
To calculate relative standard deviation:



Options :

1. Only standard deviation value is required.

2. Only value is required.

3. Both mean and standard deviation values are required.

4. Both mean and standard deviation values are not required.

Question Number : 49 Question Id : 5400732549 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Teet A faere™ & 3ead & ford

Options :

1. %ad AF® faaa deg &1 a=adhdl gidl o

2. A Icg B! TGS eIl B

3. SHI, H1ed Ud e faae deg &1 STaadhdl giat & |

4. T, H1eT U e fade deg &1 STaRgehdl Te! gidl gl

Question Number : 50 Question Id : 5400732550 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Compute the standard deviation of the following numbers: 5, 6, 4 and 2
Options :

1. 1.7

2.2.7

3.1.2

4.42

Question Number : 50 Question Id : 5400732550 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

{35 3iepl BT A faae= B1 TUHI DI 5, 6, 4 Td 2
Options :

1. 1.7

2.2.7

3.1.2

4.4.2
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Number of Questions to be attempted : 50
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Response :

Maximum Instruction Time : 0
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Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 5400732551 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Virus that can reproducewithout killing its host is called.
Options :

1. Temperate virus

2. Lytic virus

3. Retrovirus

4. Virion

Question Number : 51 Question Id : 5400732551 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AR SN 39 BRE &1 AR AT TTecTe $R qohdl § 34 &gl AT g |
Options :

1. ST aRRY

2. faifesd arRw

3. QIR

4. fafa=

Question Number : 52 Question Id : 5400732552 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
An example of colonialcoenocytic alga is:
Options :

1. Zygnema

2. Oedogonium

3. Hydrodictyon

4. Volvox

Question Number : 52 Question Id : 5400732552 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



BHIAHIIAIIZAIReD QaTd BT I8l &

Options :

1. fo@mn
2. et

3. gISglfSaeaH

4, glediag

Question Number : 53 Question Id : 5400732553 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Manoxylic wood refers to:
Options :

1. Single ring of xylem

2. Hard and compressed

3. loose and soft

4. Many rings of xylem

Question Number : 53 Question Id : 5400732553 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ANfRafrs doal BT el 8-
Options :

1. SIISCTH b Udh ofdcfd

2. HOR R dUifga

3. &l SR e

4. STSTH & Ps Bl

Question Number : 54 Question Id : 5400732554 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Bast fibers are:

Options :

1. Structural fibers of leaf

2. Cotton and Kapok fiber

3. Surface fibers of stem, leaves, fruits and seeds
4. Fibers of flax, jute and hemp

Question Number : 54 Question Id : 5400732554 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
I BIEeR &:
Options :



1. Tl o TRAFTHD BIeaR

2. HURT 3R HUIH HIFER

3. 9, afer, werl 3R oS & a3
4. 94, T2 3R U & -

Question Number : 55 Question Id : 5400732555 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Following is usually measured at the species diversity level:
Options :

1. Ecological diversity

2. Taxonomic diversity

3. Morphological diversity

4. Functional diversity

Question Number : 55 Question Id : 5400732555 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fgferRad &1 R R yefa fafderdr TR &= | S 8:
Options :

1. aRfRufae fafaear
2. Fffeur fafqeran
3. B UTHS fafaerdr

4. HIHES fAfgydn

Question Number : 56 Question Id : 5400732556 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Articulate latex ducts or latex vessels are not found in the family:
Options :

1. Euphorbiaceae

2. Compositaceae

3. Moraceae

4. Rutaceae

Question Number : 56 Question Id : 5400732556 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3fETaie Aeay Saey T deay I S T urey Hafe H 78! ure oird 8

Options :

1. JH RIS
2. B!




3, AR
4. %t

Question Number : 57 Question Id : 5400732557 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The most active participation in phloem transport is by:
Options :

1. Phloem parenchyma

2. Sieve cells

3. Companion cells

4. All of these

Question Number : 57 Question Id : 5400732557 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TAeH Uik # Tl Wihd YRfieRt fhad g1 3 STt 82
Options :

1. Ty TReprea

2. I DIRIBTSA

3. gt HIfRABTT
4. 9 g

Question Number : 58 Question Id : 5400732558 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Colchicine treated cells are arrested in:
Options :

1. S phase

2. Prophase

3. G1 phase

4. Metaphase

Question Number : 58 Question Id : 5400732558 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BRI IR DIRIDBIH BT 75 H a1 1 3:
Options :

1. T =0T

2. UItbel

3. St 1 TROT

4. et



Question Number : 59 Question Id : 5400732559 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Green ear disease of Bajra is caused by:
Options :

1. Albugo candida

2. Sclerospora graminicola

3. Cercospora personata

4. Fusarium udum

Question Number : 59 Question Id : 5400732559 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SR BT UHSIR I fr g & HRUT BT §

Options :

1. g BT
2. TWRIERT AHPTar
3. GhRT GHHTeT

4, RARTE IgH

Question Number : 60 Question Id : 5400732560 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Pinus male and female cones occur on different branches of same plant. Thus, Pinus is:
Options :

1. Monoecious and autoicous

2. Dioecious and autoicous

3. Bisexual and pleurocarpus

4. Diploid and gametophytic

Question Number : 60 Question Id : 5400732560 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR | 7R 3R A1eT U T &1 T1Y B STHT- ST Ramai R 8ld &1 39 UPR, US4 3
Options :

1. Tap fofft 3R e

2. SRR 3R HidzHd

3. 34 feftft oik wRIeTd

4. fEwiiss IR McwRfes



Question Number : 61 Question Id : 5400732561 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Theory not related to root apex:
Options :

1. Apical cell theory

2. Korper-keppe theory

3. The Quiescent theory

4. Tunica-corpus theory

Question Number : 61 Question Id : 5400732561 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Rrgid 7o 2y @ Fefdd 81 @:
Options :

1. XY ST Rigia

2. HR-HU gl

3. Fgde Rigid

4. FAB1-HIUY Rigia

Question Number : 62 Question Id : 5400732562 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Plane of formation of cell plate in plant cell is governed by.
Options :

1. Phragmoplast

2. Microtubules

3. Nucleus

4. Centriole

Question Number : 62 Question Id : 5400732562 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TGy BRI H BITAHT Wie & AT o1 ad fod & gRT i gidr 52
Options :

1. TIeRe

2. EHfRIBIY

3. A

4. Hér3fid

Question Number : 63 Question Id : 5400732563 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When DNA is exchanged via cytoplasmic bridges between two bacteria, the process is called.
Options :

1. General transduction

2. Restricted transduction

3. Transformation

4. Conjugation

Question Number : 63 Question Id : 5400732563 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

oe &) Siiamueit & o Argeiaions Ygsit & Ared J ST BT ASH-USH gidT 8, o Ufshar s 2|
Options :

1. HIH URITHA

2. Ufdsfed R

3. uRacH

4. g

Question Number : 64 Question Id : 5400732564 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Hormogonia are found in

Options :

1. Nostoc

2. Vaucheria

3. Chara

4. Chlamydomonas

Question Number : 64 Question Id : 5400732564 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BIHRTIAT UrT Srell &

Options :

1. b

2. A3ARAT

3. PRI

4. FAHTS ST

Question Number : 65 Question Id : 5400732565 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Which region believed to have highest biodiversity of any ecosystem:
Options :

1. Tropical rain forest

2. Coral reefs

3. Tropical savanna

4. Temperate evergreen forest

Question Number : 65 Question Id : 5400732565 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

B a1 & fordt 1t TR o1 ) qoen & o) 3ifies Safafderdn arel T ST @

Options :

1. Tropical rain forest
2. Hidg B

3. JWh eI FaT
4. T YETEER

Question Number : 66 Question Id : 5400732566 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The end product of glycolysis is:
Options :

1. Acetyl coenzyme A

2. CO2+H20

3. Pyruvic acid

4. Fructose 6 phosphate

Question Number : 66 Question Id : 5400732566 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
AR HIRNY &1 3ifad IdTg 8:
Options :

1. TRICTSd HITSTEH T

2. CO2+H20

3. UIgsiddh TRIe
4. pACIS 6 Bidhe

Question Number : 67 Question Id : 5400732567 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The root-like and leaf-like structure of a moss and the roots and leaves of a vascular plant are:
Options :



1. Analogous structure
2. Homologous structure
3. Vestigial structure

4. Embryonic structure

Question Number : 67 Question Id : 5400732567 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A Bt o7 Wit 3R Ui Wit TR 3R Hag-t MY i ofg 3R Ui g
Options :

1. Y AT

2. Gl T

3. SfAfRIY WA

4. YOI TR

Question Number : 68 Question Id : 5400732568 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

After reaching to new area, the process of successful establishment of the species, as a result of adjustment with the
condition prevailing there is known as:

Options :

1. Ecesis

2. Homeostasis
3. Nudation

4. Coaction

Question Number : 68 Question Id : 5400732568 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T &3 1 Ugd- o dle, 98 Bt U & A1 GHEISH & URUMHRGY USfadl & b R &1 Uichar ol
&1 oIl o

Options :

1. SHRT

2. BIARS R

3. gSxH

4. FGNT

Question Number : 69 Question Id : 5400732569 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The primary precursor of ethylene is:
Options :



1. Formic acid

2. Methionine

3. Ammonia

4. Methyl S- adenosine

Question Number : 69 Question Id : 5400732569 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TR o1 UTufie 3Ped @
Options :

1. BiH® TRIS
2. AR
3. 3T

4. TS Ta.usHIRM

Question Number : 70 Question Id : 5400732570 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

uring replication of DNA, which one of the following enzymes polymerizes the Okazaki fragments:
Options :

1. DNA polymerase I

2. DNA polymerase II

3. DNA polymerase III

4. RNA polymerase 1

Question Number : 70 Question Id : 5400732570 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SITAT 31 Ufipfd & GRM, FafaRad # 3 SH 91 TSeH SfidbTes! ghe! ol UiHRIgS Bl 5
Options :

1. SITT O 1

2. SITT QAR 11

3. SITAU UIelieRe 1M

4. 3RUAT TR 1

Question Number : 71 Question Id : 5400732571 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Genera plantarum appeared in three volumes was written by:
Options :

1. Banthum and Hooker

2. Hutchinson



3. Rendle
4. Engler and Prantle

Question Number : 71 Question Id : 5400732571 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SFRT WiieRA oiF T H foherar gRT forar 7 o
Options :

1. ST 3R §hR

2. i

3.38d

4. TTER 1R Yied

Question Number : 72 Question Id : 5400732572 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Monadelphus stamen is found in the family:
Options :

1. Malvaceae

2. Fabaceae

3. Acanthaceae

4. Solanaceae

Question Number : 72 Question Id : 5400732572 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A hg R T ot H Urn o 22
Options :

1. Araadt
2. ot

3. T
4. At

Question Number : 73 Question Id : 5400732573 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The total rate of photosynthesis including the organic matter used up in respiration during the measurement period is
called:

Options :

1. Gross primary productivity
2. Net Primary Productivity
3. Net productivity



4. Secondary productivity

Question Number : 73 Question Id : 5400732573 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AU 3afY & SR 43 H Tad Brafd Tl aied YT AWl &1 §d aR Heard 8
Options :

1. G e UTYTHe IATGehdl

2. G WUiHd IdTgdhdl

3. Y& IMTGhdl

4. H1eAfPeh IATGeHT

Question Number : 74 Question Id : 5400732574 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The DNA-binding protein that initiates the transcription of bacterial genes is called:
Options :

1. Operator

2. Promoter

3. Repressor

4. Sigma factor

Question Number : 74 Question Id : 5400732574 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
STU-STEAHRT T Sl SHaTu[ei= & Ufidera- & Lo3HTd Hdl §, HEaTd o:
Options :

1. ST

2. JHICR

3. GHADAl

4. R SRS

Question Number : 75 Question Id : 5400732575 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A plant disease in which the pathogen is seen as a cottony growth on the surface of the host is called:
Options :

1. Downy mildew

2. Powdery mildew

3. Smut

4. Rust



Question Number : 75 Question Id : 5400732575 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TP TG INT Ford IS DI IRUNT &1 Tdg TR TH Pie! gl & &0 H & SI1dT §, HEard &
Options :

1. SIS fiesy

2. U3 ey

3. ¥¢
4. G

Question Number : 76 Question Id : 5400732576 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Yeast is the main source of:

Options :

1. Riboflavin

2. Vitamin C

3. Vitamin D

4. Sugar

Question Number : 76 Question Id : 5400732576 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
IRe 3@ =7 9 ©:

Options :

1. rgSIgRIfe

2. faerfam <t

3. faera St

4. =

Question Number : 77 Question Id : 5400732577 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The sporophyte of which of the Bryophyte is considered to be the most advanced:
Options :

1. Riccia

2. Pellia

3. Sphagnum

4. Funaria

Question Number : 77 Question Id : 5400732577 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

STGTSC | I fhge] WRIGTSCT 9 I99d HMHT I ©:
Options :

1. Rfaemar
2. Ufern

3. WA
4, ARl

Question Number : 78 Question Id : 5400732578 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which types of endosperms is found in angiosperm:
Options :

1. Haploid

2. Diploid

3. Tetraploid

4. Triploid

Question Number : 78 Question Id : 5400732578 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

31T sl H fohg Teb R & YT 0N UTT 7! &
Options :

1. 3O

2. feigfora

3. WIS

4. Fforg

Question Number : 79 Question Id : 5400732579 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Photochemical smog is:

Mixture of highly oxidizing pollutants
Mixture of reducing pollutants

Called Los Angeles smog

il

Called London smog

Options :

1. 2and4
2. 2and3
3. land3
4., land4

Question Number : 79 Question Id : 5400732579 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BlelhiHeoT TAT ¢
1. HTTU® ATFHHIOT TgNehi &1 fH0T
2. FHA FT Tl YguHI FT TAsor
3. Jraufored TAET &gl J1ar &
4. oiceT TATT gl Sar &

Options :

1.2 3R 4
2. 23R3
3.1 3R 3
4.1 3R 4

Question Number : 80 Question Id : 5400732580 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Endemic plants are grown in:
Options :

1. Shady places

2. Geographically limited areas



3. Freshwater Lake
4. Tissue of other plants

Question Number : 80 Question Id : 5400732580 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Options :

1. SRR VYU

2. Mo &0 & Hifid &= o

3. HiS urHl 1 3itel |

4. U P Had d

Question Number : 81 Question Id : 5400732581 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In many vascular plants, the walls of the xylem vessels produce balloon like outgrowths into the lumen of the
vessels. Are called:

Options :

1. Tylosis

2. Lenticels

3.  Hydathodes
4. Rhytidome

Question Number : 81 Question Id : 5400732581 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

®3 a1 Ol H, TgadT el B SlaR ga- H T TR oI TXeHT &1 FHT0 SRl € 1578 el oildl 6:
Options :

1. CTE R

2. dfeda

3. gI3SUled
4. 3fes™

Question Number : 82 Question Id : 5400732582 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Glucose-6-phoshate inhibits which of the following enzymes:
Options :

1. Glucokinase

2. Hexokinase

3. Phosphorylase kinase



4. Fructose-1-6-bisphosphate

Question Number : 82 Question Id : 5400732582 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T o1-6-WIehe fFafaRad o ¥ forg Toed &1 bl &
Options :

IRGCACARRE

2. TGRS

o

3. BIRB RIS [l

4. pacid-1-6-faephe

Question Number : 83 Question Id : 5400732583 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Restriction endonuclease is:

Options :

1. Used for in vitro DNA synthesis

2. Synthesized by bacteria as part of their defense mechanism

3. Present in mammalian cells for degradation of DNA when cell dies
4. Used in genetic engineering for ligation of two molecules.

Question Number : 83 Question Id : 5400732583 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

TR TSI fRTT ¢

Options :

1. 3AfdE) DNA UANUT & foIT TRyad gial §

2. ST GRT I R&fTdA & R &b w0 H Aeaifiid

3. BIRIBT & TRA W SITAY P &R & T TR PIRIp1ail & Hige gidl &
4. ST Softafe 3 G srueft & surs fore wged e & |

Question Number : 84 Question Id : 5400732584 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following structure helps in respiration of Lichens?
Options :

1. Soredia

2. Cephalodia

3. Cyphela

4. Isidia



Question Number : 84 Question Id : 5400732584 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeied & @ o I TR Agd Bt 491 & AGg Bl 82
Options :

1. IRf&aT

2. Yhaitearn

3. Rythet

4. 3RfSa

Question Number : 85 Question Id : 5400732585 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

During the carboniferous period the dominant plants which later formed the great coal beds, were mainly:
Options :

1. Giant Lycopods, Horsetails and Ferns

2. Gymnosperms

3. Tree Lycopods and Cycads

4. Tree like early vascular seed plants

Question Number : 85 Question Id : 5400732585 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HIATHY At & SRME YW Ge ol 91 § HeT SIIdl 98 &1 FHHu a1 3, 3§ =& U 9 o
Options :

1. fo=ra ArgeEy, giew 3R W

2. forgreod

3. T ARDHIUGY 3R AEHg

4. URTYE Tag- ot Orel &1 dRg 38

Question Number : 86 Question Id : 5400732586 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Cortical vascular bundles are present in:
Options :

1. Achyranthes aspera

2. Nyctanthesarbortristis

3. Boerhaviadiffusa

4. Salvadora persica

Question Number : 86 Question Id : 5400732586 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Pifchd Hag-! U offd -

Options :

1. Uh ¥ TERT

2. FeRAE ey
3. IRglaar fewgan
4. QIeaTS R Uit

Question Number : 87 Question Id : 5400732587 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A non-protein organic part attached firmly by covalent linkage to apoenzyme is known as:
Options :

1. Prosthetic group

2. Activator

3. Co-factor

4. Co-enzym

Question Number : 87 Question Id : 5400732587 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TP TR-UICH HIa HFT S TS ¥ Gg9areid Ja1d gRT Aoed! 3 I8T 81T 8, el 6:

Options :

1. $AT IIE
2. IRF

3. ghRdH
4. TgaSZH

Question Number : 88 Question Id : 5400732588 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

A cross between hybrid and either of any parent is called:
Options :

1. test cross

2. reciprocal cross

3. monohybrid cross

4. back cross

Question Number : 88 Question Id : 5400732588 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



gisfas 3R fpaht +ff wrar-frar & &t ue w19 & HgT 9T 6:
Options :

1. U&0r 1y

2. URWR® B9

3. AFEEReS By

4. U i

Question Number : 89 Question Id : 5400732589 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Conidia are formed in acropetal manner in:
Options :

1. Aspergillus

2. Penicillium

3. Protomyces

4. Alternaria

Question Number : 89 Question Id : 5400732589 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frufafad o 2 frg & ifAfear thited adie I a9ds:
Options :

1. TERfSTer

2. UffferaH

3. QICHTREy

4. SR

Question Number : 90 Question Id : 5400732590 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true:

1. Rhynia belongs to Devonian period
Plant body of Psilotum consists of root, stem and leaves

Selaginella is commonly known as Spike moss

-

Plant body of Rhynia consists of root, stem and leaves

Options :



1. 1,2and3

2. 2,3and4
3. 1,3and4
4. 1,2,3and4

Question Number : 90 Question Id : 5400732590 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fef@a 7 ¥ old g &9 g3 ¢

1. efar salfags Frer § @6 fed &

2. GEdeH & 9l &1 R J8, dar 3R gfoal & §a1 g ar §
3. oAl ol IATHAIR TR TISEH AT & AF O ST STl &
4. JEfAAT & i &1 RR I3, T IR gt A ST g §

Options :

1.1,2 3R 3
2.2,3 3R 4
3.1,3 3R 4
4.1,2,3 3R 4

Question Number : 91 Question Id : 5400732591 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Atropa belladonna is a member of which family:
Options :

1. Papilionaceae

2. Rutaceae

3. Solanaceae

4. Ranunculaceae

Question Number : 91 Question Id : 5400732591 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TSI SIS T g URaR &7 9w ©:
Options :

1. Ufofraeedt

2. el

3. Qe



4. IHad!

Question Number : 92 Question Id : 5400732592 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Phyllode is the modification of which plant part:
Options :

1. Stem

2. Petiole

3. Lamina

4. Pedicel

Question Number : 92 Question Id : 5400732592 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
HIEArS 58 0id & YR H1 IXe[ &:
Options :

1.ddr

2. gufg=d
3. Affn
4. UfSPHa

Question Number : 93 Question Id : 5400732593 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Emerson effect explains the phenomenon of:
Options :

1. Respiration

2. Photosynthesis

3. Transpiration

4. Absorption of water by roots

Question Number : 93 Question Id : 5400732593 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TR YHTG o e &1 saReT el 3
Options :

1. 49

2. UDTRIEHRATT

3. ATSUIHSH

4. TSI GRT STd 1 SN



Question Number : 94 Question Id : 5400732594 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When more and more water is diluted with acids, what will happen to its H+ ion concentration?
Options :

1. will increase

2. will decrease

3. will remains same

4. will depends on the type of acids

Question Number : 94 Question Id : 5400732594 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. giggntt
2. g

3. @Bl
4. 3T P YHR W AR dxar g

Question Number : 95 Question Id : 5400732595 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not consider as zoosporicfungi:
Options :

1. Oomycetes

2. Chytridiomycetes

3. Hypochytridiomycetes

4. Myxomycetes

Question Number : 95 Question Id : 5400732595 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. SHTEH Y

2. picfesmERdy

3. FRUBTRIS NIRRT

4. AIOSIHTS RIS

Question Number : 96 Question Id : 5400732596 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Retrovirus have

Options :

1. Single-stranded DNA

2. Single-stranded RNA

3. Double-stranded DNA

4. Double-stranded RNA

Question Number : 96 Question Id : 5400732596 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
AR §

Options :

1. R3S Suu

2. RITA-¥K S8 3RTY

3. SYA-XSS Sty

4., STAXSS ARTTY

Question Number : 97 Question Id : 5400732597 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A water fern capable of fixing atmospheric nitrogen and used as biofertilizer is:
Options :

1. Azolla

2.  Nostoc

3. Salvinia

4. Spirul

Question Number : 97 Question Id : 5400732597 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. SfSrel

2. AETH

3. gifeatan

4. Tyzd

Question Number : 98 Question Id : 5400732598 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Development of embryo from the cells of nucellus is called:
Options :

1. Parthenocarpy

2. Apocarpy

3. Apospory

4. Adventive embryony

Question Number : 98 Question Id : 5400732598 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. grefreeTdf
2. 3Ol
3. IR}
4. SNTHATHD YOI

Question Number : 99 Question Id : 5400732599 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the ecological pyramid is always upright:
Options :

1. Pyramid of energy

2. Pyramid of number

3. Pyramid of biomass

4. None of these

Question Number : 99 Question Id : 5400732599 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Sl o RIS

2. T &1 RIS

3. SN & fiRifeg

4, TR AP TSI

Question Number : 100 Question Id : 5400732600 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Sulphur containing amino acid is:
Options :



1. Isoleucine

2. Glycine

3.  Methionine

4. All of the above

Question Number : 100 Question Id : 5400732600 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Options :

1. TSI

2. TS RA

3. B

4. SR gt



